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Read the instructions carefully before answering the questions

* The question booklet is divided into three parts. Part One consists of 40 multiple choice
questions. In Part two, TWO short answers (300 words maximum) need to be answered. In
Part three, TWO short answers (300 words maximum) need to be answered.

* Answer the objective questions by writing the alphabet (a, b, ¢, or d), corresponding to your
answer, on the answer line provided atthe right bottom of each question.

* Answer to the short answer question should not exceed 300 words and neatly written in
the ruled space provided.

* Write your Register Number in the space provided on the top of this booklet.
* You can use last page of this booklet for doing rough works.

* Mobile Phones and calculators are not allowed in the examination hall.
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PART ONE

Answer all questions in Part One

1). Second Fundamental Theorem of welfare economics says that:

a) Competitive equilibrium is pareto efficient.

b) For all possible Pareto optimal allocations, one can use lump sum taxes and transfers to
achieve any one, through competitive markets.

¢) Any Pareto efficient allocation is a competitive equilibrium,
d) None of the above,

Answer:

2). Suppose in a growth model of expanding product variety with a single factor of
production, government decides to give subsidy to innovation. Assume markets are
monopolistically competitive. This will have the following consequence:

a) This will increase both the growth rate and the welfare,
b) There will be no effects on growth rate but welfare falls.
¢) There will be no effect on welfare, but growth rate rises.

d) growth rate rises but the effect on welfare is ambiguous as product prices will rise.

Answer:

3) In the Uzawa two sector growth model (1961) of human and physical capital, the Uzawa
capital intensity condition guarantees

a) There is a unique factor market equilibrium for every possible return to labour.

b) Equilibrium is unique and stable

c) Bothaand b

d) None of the above.

Answer:
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4) Consider an endogenous growth model with the following production function Y = AK +
F(K,L) where Y, K, L represents output, capital and labour respectively. F(K, E) 15 .4
production function that satisfies, constant returns to scale, positive and diminishing marginal
productivities to factors of production and Inada conditions. Then such a growth model

a) Exhibits transitional dynamics
b) Does not exhibit transitional dynamics
¢) No steady state equilibrium

d) Uncertain

Answer:

5) Investment may increase or decrease in the initial phases of a Real Business Cycle
depending upon

a) Elasticity of demand and supply.
b) Initial level of GDP
¢) The depreciation rate of capital

d) The persistence of fiscal shock and elasticity of labour supply.

Answer:

6) The overlapping generation model can be dynamically inefficient because
a) Time is discrete

b) Each generation can trade with other generation only once.

¢) Labour is the only factor of production.

d) None of the above.

Answer:
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